EEEEREMERE=2) VB EREE 120D ER
(ERK30E8A30H~11H8HE)

RF N EE B0 RAED (RUHRYD
BERKEAEARR (RFHYD

AESE ERBRERBIEME( 1 Sv/h)
- = WE-ERES
No. | T O SHBE PE | 50om £ A0 G LES %
im 5@ | #1@E [ 2@ [ ®@ | 4@ | 1@
RERR | AERE | AERE | AEHE | BESR | HERE
50cm 0.07 0.08 0.06 0.08 0.07 0.07
1326 | LvhET HREE KMEEE 9RA 198
1m 0.07 0.08 0.06 0.08 0.07 0.07
50cm 0.10 0.09 0.08 0.07 0.08 0.08
1327 WhET HREE HEREER 9R18H
1m 0.09 0.08 0.07 0.06 0.08 0.08
_ 50cm 0.07 0.09 0.08 0.08 0.08 0.08
1328 | LvhET HREE BEHEER 9R18H
1m 0.07 0.08 0.09 0.09 0.08 0.08
50cm 0.06 0.07 0.07 0.07 0.08 0.07
1329 LvhET HREE BAGRER 9R20H
1m 0.05 0.07 0.06 0.07 0.07 0.07
50cm 0.07 0.07 0.06 0.07 0.07 0.06
1330 LvhET HREE KIGHRE 9RA 198
1m 0.07 0.06 0.06 0.07 0.07 0.06
50cm 0.07 0.06 0.07 0.06 0.07 0.06
1331 LvbhE! HREE HKHREE 9A25H
1m 0.07 0.06 0.08 0.06 0.07 0.07
50cm 0.08 0.09 0.09 0.08 0.11 0.11
1332 LvhET HREE REDOERER 9H28H
1m 0.08 0.08 0.08 0.09 0.10 0.11
_ 50cm 0.07 0.06 0.06 0.06 0.09 0.08
1333 LvbhET HREE FRERERT 9A25H
1m 0.07 0.06 0.06 0.07 0.08 0.08
50cm 0.08 0.06 0.06 0.09 0.08|f = e 5 | s B e _t
1334 | LhEd REE  |=HREF 9R 138 TR B REERE R
1m 0.07 0.06 0.06 0.08 0.08(%°~
50cm 0.06 0.07 0.08 0.07 0.06 0.06
1335| LvhEM RER =REER 9A13H
1m 0.07 0.06 0.07 0.07 0.06 0.06
50cm 0.08 0.08 0.09 0.08 0.08 0.08
1336 | LvbhET REE MRPEFE 9H25H
1m 0.08 0.09 0.08 0.08 0.08 0.08
50cm 0.10 0.09 0.08 0.09 0.09 0.08
1337 W& HREE HIVRER 9A18H
1m 0.10 0.09 0.08 0.08 0.09 0.08
_ 50cm 0.07 0.05 0.08 _
1338 | LvhETh #REE B RER 9A28H BEr BEIEHICKY. REESZEA
1m 0.08 0.06 0.08
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o el £11m 5@ F11m@ 56 £11m
AEHE | AEHE | AERE | AR | AR | #EER
_ 50cm 0.08 0.07 0.08 _
1339 | LvbhETh HREE LOHRE 9A25H B BEIEPICLY. REESZEEA
1m 0.07 0.06 0.07
50cm 0.07 0.08 0.08 0.08 0.07 0.07
1340 LvbhET RER HBERER 9A26H
1m 0.07 0.07 0.08 0.07 0.07 0.07
50cm 0.06 0.08 0.07 0.08 0.08 0.08
1341 LvbhET! HREE = OERER 9A26H
1m 0.06 0.07 0.07 0.06 0.08 0.08
50cm 0.08 0.07 0.09 0.08 0.07 0.07
1342 LhET RER FREREE 9R20H
1m 0.07 0.07 0.07 0.07 0.07 0.07
. _ 50cm 0.06 0.08 0.06 0.06 0.06 008|EEIHEhILY, RESEHER
1343 LvhET HREE EREF 9820H [BRE-EES] hR1MEDHAE(E11E
1m 0.06 0.08 0.06 0.07 0.06 0.06|4,[E4%)
50cm 0.05 0.05 0.05 0.06 0.06 0.07
1344 LhET RER ZEREE 9A28H
1m 0.05 0.05 0.05 0.06 0.06 0.06
_ 50cm 0.07 0.08 0.08 0.08 0.07 0.08
1345| LvbhETh HREE HEREM 98198
1m 0.06 0.08 0.06 0.07 0.07 0.08
_ 50cm 0.06 0.06 0.07 0.06 0.06 0.06
1346 | LvhET RER AETRER 9R20H
1m 0.05 0.05 0.06 0.06 0.06 0.06
50cm 0.07 0.06 0.07 0.06 0.07 0.06
1347 WhET RER EEAREERE 9R20H
1m 0.07 0.07 0.08 0.06 0.06 0.06
50cm 0.07 0.07 0.07 0.07 0.07 0.08
1348 LvhET REE WhE-KGAFREER 9811
1m 0.07 0.08 0.07 0.07 0.07 0.07
_ 50cm 0.05 0.07 0.06 0.06 0.07 0.07
1349 | LvbhETh HREE EEBREM 98118
1m 0.06 0.07 0.06 0.07 0.07 0.07
_ 50cm 0.06 0.07 0.06 0.06 0.07 0.07
1350 | LvbhEh HREE EERER 98258
1m 0.06 0.06 0.06 0.05 0.06 0.06
) _ 50cm 0.05 0.05 0.07 0.06 0.07 0.06
1351 LvhET RER ERHEEM 9A28H
1m 0.05 0.05 0.06 0.06 0.07 0.07
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o el £11m 5@ F11m@ 56 £11m
RERR | AERE | AERE | AEHE | BESR | HERE
50cm 0.07 0.06 0.06 0.06 0.06 0.06
1352 WLvphETH HREE TINRER 9A28H
1m 0.07 0.06 0.07 0.05 0.06 0.06
50cm 0.05 0.05 0.05 0.05 0.06 0.06
1353 | LvbhET HREE RIREM 9A28H
1m 0.05 0.06 0.06 0.05 0.06 0.06
50cm 0.06 0.06 0.06 0.06 0.07 0.06
1354 L\hHEMH HREE =HEREM 9A14H
1m 0.06 0.06 0.06 0.05 0.06 0.06
50cm 0.06 0.07 0.07 0.08 0.08 0.09
1355| LvhEM RER MERER 9A12H
1m 0.06 0.07 0.07 0.06 0.08 0.08
50cm 0.06 0.06 0.08 0.07 0.08 0.08
1356 | LvbhEh HREE HEE—REER 9A13H
1m 0.06 0.07 0.07 0.06 0.07 0.07
50cm 0.09 0.10 0.06 0.07 0.08 0.08
1357 | LvbhEh HREE HEE_RER 9A 198
1m 0.09 0.09 0.06 0.07 0.07 0.07
50cm 0.08 0.08 0.07 0.06 0.08 0.08 . -
1358| LvbETh REE  [FoL7UnREE 97208 e U B ) Noas2d - SRR
1m 0.08 0.07 0.07 0.06 0.08 0.08|”
50cm 0.07 0.08 0.07 0.08 0.07 0.08
1359 | WLvphETH HREE SHZREE 9A12H
1m 0.06 0.08 0.06 0.06 0.06 0.07
50cm 0.06 0.07 0.06 0.07 0.07 0.07
1360 | LvbhETh HREE EABRER 9A25H
1m 0.06 0.07 0.06 0.05 0.07 0.07
50cm 0.08 0.08 0.08 0.07 0.09 0.08
1361| LvbhETh HREE MNSREER 9H28H
1m 0.07 0.08 0.07 0.07 0.08 0.08
_ 50cm 0.07 0.07 0.06 0.07 0.07 0.08
1362 LvbhET HREE HERERER 9A18H
1m 0.07 0.07 0.06 0.07 0.07 0.08
_ 50cm 0.07 0.07 0.08 0.08 0.07 0.07
1363 LvbhE HREE BIREA 9R 148
1m 0.06 0.07 0.08 0.07 0.07 0.07
) 50cm 0.08 0.08 0.07 0.07 0.08 0.08
1364 | LvhET HREE BKDZEAHFEEER 9A 198
1m 0.08 0.08 0.07 0.07 0.07 0.08
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RERR | AERE | AERE | AEHE | BESR | HERE
50cm 0.06 0.07 0.06 0.07 0.08 0.08
1365| LyhET HREE EREM 9RA 198
im 0.07 0.06 0.07 0.07 0.07 0.07
___ _ 50cm 0.07 0.08 0.08 0.07 0.08 0.07
1366 | LyhETH HREE SRRER 9A28H
im 0.08 0.07 0.07 0.07 0.07 0.07
50cm 0.06 0.07 0.06 0.07 0.06 0.06
1367| LvbhETh HREE BARBM 9A18H
im 0.06 0.06 0.05 0.06 0.06 0.06
50cm 0.06 0.06 0.06 0.05 0.06 0.06
1368 | LybhEh HREE AN =] 9A 128
im 0.07 0.06 0.06 0.05 0.06 0.06
50cm 0.07 0.07 0.06 0.05 0.06 0.06
1369 | LvbhETh HREE REGFEE 9A 128
im 0.06 0.06 0.05 0.05 0.06 0.06
50cm 0.06 0.07 0.06
1370 WvhET HREE EHRFRER 9A 148 F11EFIEBFICKYBERT
im 0.05 0.06 0.06
_ 50cm 0.04 0.04 0.04 0.06 0.06 0.07
1371 LhET HREE tRREA 9A7H
im 0.05 0.04 0.05 0.06 0.06 0.06
50cm 0.06 0.06 0.06 0.04 0.05 0.05
1372 LhET HREE XEREER 9R 148
im 0.06 0.05 0.06 0.05 0.06 0.05
50cm 0.06 0.06 0.07 0.06 0.06 0.06
1373 | LvbhEh HREE HEFEER 9A13H
im 0.06 0.05 0.07 0.06 0.06 0.06
50cm 0.05 0.06 0.06 0.05 0.07 0.06
1374 LbhETH HREE IWEBRER 9A 148
im 0.06 0.06 0.05 0.06 0.06 0.06
_ 50cm 0.05 0.07 0.06 0.05 0.07 0.06
1375| LvbhEh HREE ERREMN 9A6H
im 0.06 0.06 0.05 0.05 0.06 0.06
50cm 0.07 0.07 0.06 0.07 0.06|/l EM ] No.1516L v ETILIRE=/NERREH
1376 | L& HREE HZLRER 9A6H A
1m 0.07 0.07 0.06 0.07 0.06|5E 1 1 EMSHEERELEBE LT, FiRth s
_ 50cm 0.08 0.08 0.07 0.08 0.07 0.08
1377 LbhEh HREE mEREM 9R826H
im 0.08 0.07 0.07 0.08 0.07 0.08
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BERE | REKE | PELR | DERR | BERR | BERR
50cm 0.07 0.07 0.06 0.06 0.08 0.08
1378 | LvbhEM RER =ERER 9R826H
m 0.07 0.07 0.07 0.06 0.08 0.07
50cm 0.07 0.08 0.07 0.07 0.11 0.12
1379| Wb BEE INIRE R 9A18H
m 0.07 0.08 0.08 0.08 0.11 0.11
50cm 0.07 0.06 0.07 0.06 0.07 0.07
1380 | LvbhEh RER IXEREE 98198
m 0.06 0.07 0.06 0.07 0.07 0.06
50cm 0.08 0.09 0.07 0.08 0.09 0.09
1381 LvbhEh HREE WHEHREBERAEFROUVOVE 98188
m 0.07 0.09 0.07 0.08 0.09 0.09
50cm 0.10 0.11 0.10 0.09 0.09 0.09
1382 L\bHEM RER XKARERN 9A13H
m 0.08 0.11 0.09 0.08 0.09 0.08
50cm 0.08 0.07 0.08 0.07 0.08 0.07
1383 | LybhEM RER FHOTEREER 9H28H
m 0.08 0.08 0.08 0.08 0.07 0.07
- . 50 0.06 0.09 0.06 0.07 0.09 0.09
1384| LvbE REE ODENIRE@FRREY | ogigg | ——
stIER m 0.06 0.09 0.07 0.06 0.08 0.09
- (B) BRI R %R B (AR 50cm 0.08 0.08 EMERBOAEN =0, REOOAEE
1385| LvhEM REE A SA2A —— 0.08 0.08 [ eRE-BERES ] L
50cm 0.09 0.07 0.06 0.07 .
1386 | LvbhETh RER ViR EE 98258 [BE-BEESF] 8L
m 0.08 0.07 0.06 0.06
500m 008 007 EFERBEOAGE=8, FRODHEE
== - Ft 0. F A E
1387 WhE REE V&kIH57 9F26H - 0.08 0.03 [HRE-BEZ] &L
- W& 2 LMRES () /NG ER Rt 50cm 0.07 0.06 EMERBOAEN =0, REOOAEE
1388 | LvbhETH REER L A— NIRRT 9A26H [RE-BEE] 8L
m 0.06 0.07
- 50cm 0.08 0.10 0.09 0.10 0.09 0.10
1389 | LyvbhEM RER BELERF/AVE (DLERBR) 98118
m 0.07 0.09 0.08 0.10 0.09 0.09
50cm 0.08 0.10 0.08 0.09 0.09 0.11|[ 4 g (= Ao
1300 bt RBEE  |[RE—nPRbEEA 9 11A [REEES ] Bubics IR DA AR
m 0.08 0.09 0.08 0.09 0.08 0.10/" =
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EERERBEMEHBE=AI VAT (EREF12E)FER
(ER30%4£8HA30E~1188B=E)
[RF A K EH M FRAE (RETHRIT)
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AESE ERREFAEE(L Sv/h)
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No. | vhATH R4 SRERT BE | S0om IEF e (h k- 41D T 1918) i
ool sm | gnm [ sm [ Bom | sm | #0m
FERE | AERE | HERE | HerR | Paer | HEss
50cm 0.06 0.06 0.07 0.07| EFEREBEOAEWN=O. FBEODOAHBIE
1391 | LvbhETH RER (BHREER 9H26H [ REE-EESE ] P/NLYSHEDFHEE
m 0.05 0.06 0.07 0.07|11ELF#)
50cm 0.10 0.11 0.07 0.09 0.09 0.09
1392 LvbhETh RER mEEER 98128
m 0.09 0.10 0.08 0.09 0.08 0.09
_ 50 0.07 0.08 0.08 0.06
1303 L= REE WESTIONREIRBALLS | ogiom [ ERES ] ®L
m 0.07 0.07 0.07 0.07
N N _ 50cm 0.08 0.07 0.08 009\ maeT=h LY RELEEH
1394| LvbhEM REE REBHATRBERRE R 9R14R - 008 007 008 0. 09| EFERBOAGEL -t . RO D HIE
- = g g 50 0.05 0.06 0.06 0.06 0.06 0.06
1395 L‘#’)%Fﬁ 1%:%@ %?;E%iﬁ”a%ﬁ r[‘;:l*l%@ 9H14E cm
B m 0.06 0.06 0.06 0.06 0.06 0.06
50 0.06 0.08 0.07 0.08| EFfEEBEOAME =0, FBEODAHBIE
1306 L REE UREVINRE@RELEN | ogiam | —— R BREE | JIN=h0 1A 2l (28
m 0.06 0.07 0.07 0.08|11 L)
50cm 0.12 0.14 0.10 0.11 0.09 [BBO] £11EEIEEICKYIEETIE
1397 W& ®REE WEREM 9A27H [®RE-BEZE] F11RIEIEZFICKYAET
m 0.12 0.13 0.09 0.11 0.09 Gl
50cm 0.06 0.07 0.08 0.08
1398 | L\bhEmM RER BWLEPREER 9A13H EMERBEOAEWN=O. FBEODOAHBIE
m 0.06 0.06 0.07 0.08
50cm 0.08 0.08 0.07 0.06 0.07 0.08
1399 | LvbhETh HREE IFHFELREER 9R18H
m 0.06 0.08 0.06 0.06 0.07 0.07
) 50cm 0.08 0.07 0.06 0.06 0.06 0.08
1400 | LvbhETH HREE INSAVIVPIIVRER 98118
m 0.08 0.08 0.06 0.07 0.07 0.08
. 50cm 0.09 FBERICKY FTiRtth s
1401 | W ETH RER FroT4EST 9H26R EMERBEOAEN=O. FBEOOHBIE
1m 0.09 [BE-BEESF] 8L
. 50cm 0.08 0.06 0.06 0.05 N
1402| LvbhETH HREE FERAEBSLRERER 9825H [®RE-BEEEF] £L
m 0.07 0.06 0.07 0.05
. 50cm 0.08 0.08 0.09 0.08 N
1403 | LvbhETh HREE RE—=N\DRVEDY 9820H [®RE-BEEF] £L
m 0.08 0.09 0.09 0.08
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EERERBEMEHBE=AI VAT (EREF12E)FER
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No. | ETH R4 SR LT BE | S0om IEF e (b - 4 BB T 1) i
S g1E | 4@ | g1\ | 5@ | #Ziim
Fase | Bass | Hase | Baes | Hase | Baes
. 50cm 0.08 0.06 0.06 0.06
1404 | LvbhETH REHE HRIEEEAR—LEREREER | 97288 EFERBEOMNEN . FBOOAHTE
m 0.08 0.05 0.05 0.05
50cm 0.05 0.06 0.05 0.05
1405 | LvbhETH REH MIZRBETENS 9H7H EFERBEOMNEN . FBROOAHTE
m 0.05 0.06 0.05 0.06
) ke S 1 50cm 0.08 0.07 EFESBOMNEN . ERODHEE
1406 | LvbhET HREE DIEEHHBE CEARRENTRE) 98208 - 007 007 [ - EREE ] WL
- . 50cm 0.08 0.08 0.08 0.09 N
1407 | LbhETh RER BHEIER/NVUTEA 98198 [BE-BEESF] 8L
m 0.08 0.07 0.08 0.08
50cm 0.06 0.06 0.07 0.06
1408 | LvbhET RER BUSFEIL—L 9H28H [BE-BEESF] 8L
m 0.07 0.06 0.06 0.06
o 50cm 0.08 0.09 0.08 0.08 0.08 0.08([ Fp8 [ SpE0 I #epe-EREZ ] Nod430 8
1409 | LVvhETH REH LFALVKIZREE 9A19A AN e ' i
" " im 0.08 0.09 0.07 0.08 0.07 0.08| FHETFZEHHEAR
" : 50cm 0.08 0.06 iRt s
50cm 0.06 it R
1411 LvbhET REHE thEERaE 98138 EFERBEOMNEN S, FBROOAHTE
1m 0.07 [BE-BEESF] 8L
-y N 50 0.08 0.06 0.07 0.08 0.09 0.08
m 0.06 0.07 0.07 0.07 0.09 0.08
50cm 0.07 0.06 0.07 F11EERELH - HAIYHE .
R . N [EM I 2RO ] B11ELEICHERESR
1413 L\bgfﬁ !—t :EJ fﬂ{%ﬁ#@nﬂi&_&%.?ﬁ’é_&%. gﬁ 198 [ *BJEE.@E% ] %1 1 @fil$%l:$"ﬁﬂﬂﬁ;ﬁ
m 0.07 0.06 0.07 a
) ) 50cm 0.05 0.05 0.08
1414 LbhET! CELE AEFIELE 9R826H E11RIEITEHFICKYRERT
m 0.07 0.05 0.07
) 50cm 0.07 0.06 0.08 .
1415| LvbhEh CELE YR 9H28H E11EIEFAERN
m 0.07 0.05 0.08
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No. | Tt =4 SR B T PE | 50om EF] Fi&0 (ch - BB OD T 1) e
o el £11m 5@ F11m@ 56 £11m
HERR | HEes | BEee | HEeR | nEes | Bzes
‘ - ~ 500m 0071 008 009 008 009 009
1416 | WhE CELE RECELE YACOK 9F28H
im 0071 o006 008 008 009 008
‘ 500m 0.06 0.05 0.06
1417 LbhHEM ZEBE hhEYHE 9R20H B F11EEEEIEDICKYRES
im 0.06 0.05 0.06
50cm 0.05 0.06 0.06 0.06 0.06 0.06 E1 1 ESREL T 2R HE
‘ im 007 007 006] 005 008 006l RE-EESF] E1EE
1418| Wb CELE Pt 7 T opeE — 11— ol -
500m 007 007 _
[RE-BEEE] F2EE
im 006| 006
‘ ] ‘ 50cm 008 009 o008 o008 007 008
1419 WhE CELE HTUDHELH 9A11H
im 008 009 o008 o008 007 008
‘ ) 500m 006 005 006 006 006 007
1420 WvhHEMm CELE RECLLE 9A13H
im 005 005 007 o006 006 006
500m 0071 007 007 007 007 007
1421 WhEMm MR WhETILIZ R 9A19H
im 0071 008 007 007 007 006
) 500m 008/ 009 009 009 009 009
1422 LWvhHEMm MR WhERILT AT HHE 9A25H
im 009 008 009 o008 009 009
500m 006 008 006 o006 007 007
1423| WvhHEMm MR WhEHILE)ISH#E 9A26H
im 006 005 007 o006 007 006
50cm 006 007 o008 008 007  008| sp o —
1424| L& GHE  bEHUEERHEE 97268 L EES ] NolassLhEmLNRE
im 0071 007 007 o008 o007 o07/"F&
50cm 006 008 008 007 007 008
1425| L\hHEM YFE LNhET LB H#E 9R128
im 005 005 007 007 o008 008
50cm 0071 009 008 009 o008 008
1426 | L\hHEM YFE WHhEMILZAE—$#E 9R13H
im 0071 007 007 o008 007 007
50cm 008 008 008 007 o008 009
1427 | LhHEM YFE WHEMILZAE=Z#E 9R20H
im 0071 008 007 007 o009 009
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BERKEAEARR (RFHYD
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- RE EEE
No. | vhATH R4 SRERT PE | 50om IEF e (h k- 41D T 1918) i
m | 2m | ®E | sm | moE | @ | #m
pEsaR | AasR | nake | BEsE | nass | BEsE
50cm 0.08 0.10 0.09 0.09 0.10| = - T ———
1428| LbETH GRE [ bEHIERSRE 97198 TR B REERE R
m 0.09 0.08 0.08 0.09 0.10(%-
50cm 0.07 0.07 0.08 0.07 0.08 0.08
1429 LvbhETh PR WhETILENH#E 9828H [EEF] No1506L v EHILE/NERELA
m 0.07 0.07 0.08 0.07 0.07 0.08
N 50cm 0.06 0.06 0.07 0.07 0.08 0.07
1430 | LvbhETH HHE WhETIISRSHE 9R28H
m 0.05 0.07 0.06 0.07 0.07 0.07
) 50cm 0.06 0.06 0.06 0.06 0.06 0.06
1431 LbhE! HHE LWhEMILY RN ESHE 98128
m 0.05 0.06 0.06 0.05 0.06 0.06
50cm 0.05 0.06 0.07 0.07 0.06 0.06
1432 LbhET! HHE WhET LIRS HEE 98148
m 0.05 0.06 0.06 0.06 0.06 0.06
50cm 0.08 0.12 0.09 0.10 0.09 0.09
1433 | LvbhETh HHE WhETIMIREE—$#E 9R826H
m 0.08 0.10 0.09 0.10 0.09 0.09
50cm 0.06 0.07 0.06 0.06 0.08 0.09
1434 LbhET! HHE WhHhETIIREE Z$H#E 9R826H
m 0.06 0.07 0.06 0.06 0.08 0.08
50cm 0.06 0.06 0.07 0.08 0.08 0.08
1435| L\HEH R TE—4HE 9H18H
m 0.07 0.06 0.07 0.08 0.07 0.07
50cm 0.10 0.10 0.08 0.09 0.09 0.10
1436 | L\pHEM R TE_4HE 9H20R
m 0.10 0.10 0.07 0.08 0.09 0.10
50cm 0.10 0.10 0.08 0.06 0.09 0.08
1437 LbhETh YFE X504 HE 9R826H
m 0.10 0.10 0.08 0.06 0.08 0.08
50cm 0.07 0.07 0.09 0.07 0.09 0.10
1438 | L\pHEM R F4HEE 9H25H
m 0.08 0.07 0.09 0.08 0.08 0.09
50cm 008/ 009] 008 008 008 008 Fpq i gpam Il behe-EAES ] No.1409<IZ
1439 | L\ ETH R LEFHBEFESHE 98198 RN > "
- im 008 009 007 o008 007 008NLUSCERAELRA
50cm 0.07 0.07 0.07 0.08 0.08 0.08
1440 | LvbhETH YFE XS E 98258
m 0.06 0.07 0.07 0.07 0.08 0.08
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EEEEREMERE=2) VB EREE 120D ER
(ERK30E8A30H~11H8HE)

RF N EE B0 RAED (RUHRYD
BERKEAEARR (RFHYD

AESE ERBRERBIEME( 1 Sv/h)
- = WE-ERES
No. | Tt =4 SR B T PE | 50om EF] Fi&0 (ch - BB OD T 1) e
o el £11m 5@ F11m@ 56 £11m
RERR | AERE | AERE | AEHE | BESR | HERE
50cm 0.08 0.08 0.08 0.08 0.07 0.08
1441 LWhETh WHE LWhEEHRXZHEHHE 9H25H
1m 0.08 0.07 0.08 0.08 0.07 0.08
50cm 0.06 0.07 0.08 0.07 0.08 0.08
1442 WhES PR LhEHFHE 9H28H
1m 0.07 0.07 0.06 0.06 0.07 0.07
50cm 0.06 0.07 0.06 0.07 0.07 0.07
1443 | LWHEH YFE HYTHHE 9H20R
1m 0.06 0.06 0.05 0.06 0.06 0.07
50cm 0.07 0.06 0.07 0.06 R .
1444 | WhET PR By EHFHEER 9H28H [RE-BEEEF] ITEZICKYAERT
1m 0.06 0.07 0.06 0.07
50cm 0.06 0.05 0.07 0.06 0.06 0.06
1445 LWhETh WHE INGEEBESYHE 9A20H
1m 0.06 0.05 0.07 0.06 0.06 0.06
50cm 0.07 0.08 0.06 0.07 0.07 0.07
1446 | L\hET YFE MLESHHE 9A 118
1m 0.07 0.08 0.06 0.06 0.07 0.07
50cm 0.08 0.07 0.08 0.07 0.07 0.07
1447 WhET YFE ETETHHE 9R20H
1m 0.08 0.06 0.07 0.07 0.07 0.07
50cm 0.06 0.06 0.06 0.06 0.06 0.06
1448 | L\hET PR RYFHEE 9A28H
1m 0.06 0.05 0.05 0.05 0.06 0.06
50cm 0.06 0.07 0.05 0.05 0.07 0.07
1449 | LvbhETH PR EHETECEHHE 9A 148
1m 0.07 0.06 0.06 0.06 0.07 0.06
50cm 0.07 0.07 0.06 0.06 0.07 0.07
1450| LWvhET WHE NEHFEILHHE 9A13H
1m 0.06 0.06 0.06 0.05 0.07 0.07
50cm 0.08 0.09 0.08 0.07 0.08 0.09
1451 | LhET PR BR{EEE 4 HEE 9R128
1m 0.09 0.09 0.08 0.08 0.08 0.09
50cm 0.08 0.08 0.08 0.08 0.08 0.08 . p—
52| LhEm WRE  [ECLHHE 97208 LR [ BRES ] Nuissesoe7uni
1m 0.08 0.07 0.08 0.08 0.08 0.08|F =<7
50cm 0.07 0.06 0.06 0.06 0.06 0.06
1453 | LvhET YFE RO FHE 9R 148
1m 0.06 0.06 0.05 0.06 0.05 0.06
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FEERREMSFRE=FI)VVHRE(EREFEF12E)ER
(ERK30E8A30H~11H8HE)
[RF A K ER Hh ot RAER (RETHR D)
BEEKEMERARE (EFHID
AEES TR R BB E B4 Sv/h)
N - e RS
No. | ETH R4 SR LT PE | 50om M S0 (b - 4 BB T 1) i
mo | % gE [ 4@ | @ [ 48 | 0@
RERR | AEHER | FEHER | AERER | AEHER | AERER
50cm 0.06 0.07 0.08 0.08 . .
1454| WhET SHE AN YHE 9F268 EMERBOMEN=-0, REODHIE
1m 0.06 0.07 0.08 0.08
50cm 0.06 0.06 0.07 0.06 0.07 0.06
1455| L\hET SHE [F5E<HHHE 98138
1m 0.07 0.05 0.07 0.06 0.06 0.06
50cm 0.06 0.06 0.06 0.05 0.07 0.07
1456 | LvbhEM HHE DNEAN) VI HHEE 98148
1m 0.07 0.06 0.05 0.06 0.07 0.06
50cm 0.05 0.06 0.06 0.05 0.06 0.06
1457| WhE SHE BIE5 Y HE 98138
1m 0.06 0.06 0.06 0.04 0.06 0.06
50cm 0.05 0.06 0.07 0.06 0.07 0.07
1458 | LvbhEM HHE TFEH#E 9R7H
1m 0.05 0.06 0.07 0.07 0.07 0.07
50cm 0.06 0.05 0.06 0.05 0.05 i S E R s TR A 4
1459| LWhET e M) R L EAHE 9878 LT P B REERE R RLI=6
1m 0.07 0.05 0.04 0.05 0.05
50cm 0.06 0.06 0.06 0.07 0.07 0.07
1460 | LvbhEM HHE HEHFHHE 9A18H
1m 0.06 0.06 0.07 0.07 0.07 0.07
50cm 0.10 0.10 0.09 0.10 0.10 0.09
1461 | L ETH R INISFHEER 9A18H
1m 0.10 0.10 0.10 0.10 0.09 0.09
50cm 0.08 0.07 0.08 0.08 0.07 0.07
1462 | L\hHEM R HHLGFHE 9A19R
1m 0.07 0.07 0.07 0.08 0.07 0.07
50cm 0.07 0.08 0.07 0.08 0.09 0.09
1463 | LvbhEM INEEAR WHhETILEF /N 98198
1m 0.07 0.08 0.08 0.08 0.08 0.09
50cm 0.09 0.09 0.09 0.09 0.09 0.08
1464 | LvbhEM INEEAR WHhETILE H /MR 9R18H
1m 0.08 0.08 0.08 0.09 0.09 0.08
R 50cm 0.08 0.08 0.07 0.08 0.08 0.08
1465 | LvbhEH NS W ETI BB NSRS A S 9F 198
1m 0.07 0.07 0.07 0.08 0.07 0.08
50cm 0.09 0.07 0.07 0.07 0.06 i S p RS s TR A g 4
1466| LvhET e WhE I B AN 95188 LT P B REERE L RLI=60
1m 0.09 0.07 0.07 0.06 0.07
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EEEEREMERE=2) VB EREE 120D ER
(ERK30E8A30H~11H8HE)

RF N EE B0 RAED (RUHRYD
BERKEAEARR (RFHYD

RESS ZE RN B SRR FE B 1 Sv/h)
- RE-BEZ
No. | T R4 SHE R PE | 50om £ #E0 (52 4TBO T HB) %
o el £11m 5@ F11m@ 56 £11m
BERR | BERR | HERE | PERE | Bare | BERR
50cm 0.09 0.09 0.08 0.08
1467| W& INERR WhETILE/M/NER 9A20H [BE-EESE] IFFCIYRERA
1m 0.09 0.08 0.07 0.08
50cm 0.10 0.09 0.10 0.09 0.09 0.09
1468 | LVvhHET INERR WhEMILT A /NER 9A19H
1m 0.09 0.08 0.10 0.09 0.08 0.08
X . 50cm 0.06 0.06 0.07 0.08 0.08 0.07
1469 | LVvhHET INERR W ETMILK I /N 9A19R
1m 0.06 0.06 0.07 0.07 0.07 0.06
50cm 0.08 0.07 0.08 0.09 0.09 0.09
1470 Wb N W ETTIIEF RIS — AR 9H 250
1m 0.07 0.07 0.07 0.08 0.08 0.09
50cm 0.08 0.07 0.08 0.06 0.09 0.09
1471 Wb N W ETTIIEFRIE SR 9F26H
1m 0.07 0.07 0.08 0.08 0.09 0.09
50cm 0.09 0.09 0.08 0.08 0.11 0.11
1472| Wb N LV E T I AR RIS N2 9A18H
1m 0.08 0.08 0.09 0.09 0.10 0.11
. . 50cm 0.08 0.09 0.08 0.09 0.10 0.09
1473| Wb N W ETTI =N 9A 138
1m 0.08 0.09 0.09 0.09 0.10 0.09
50cm 0.08 0.07 0.07 0.08 0.09 0.09
1474 WhHEMH INERR WhERILFEE—NER 9A25H
1m 0.08 0.08 0.07 0.07 0.09 0.09
. 50cm 0.07 0.08 0.08 0.08 0.08 0.08
1475| W& INERR WhEHILFE ZNER 9A26H
1m 0.07 0.08 0.09 0.08 0.08 0.09
. 50cm 0.09 0.09 0.07 0.06 0.07 0.07
1476 | W& INERR WhERILFEEZNER 9A28H
1m 0.09 0.08 0.07 0.07 0.07 0.07
50cm 0.10 0.09 0.07 0.07 0.09 0.09
1477 WhEMH INERR WhEH I FEMNER 9A19H
1m 0.09 0.08 0.07 0.07 0.08 0.09
. . 50cm 0.08 0.07 0.09 0.09 0.07 0.08
1478| LW ET INERR WHhEMILFEER/NER 9A 28R
1m 0.07 0.07 0.08 0.09 0.07 0.08
. . 50cm 0.07 0.08 0.08 0.09 0.08 0.09
1479| W& INERR WhETRILFEENRNER 9A25H
1m 0.07 0.08 0.08 0.09 0.08 0.09
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EEEEREMERE=2) VB EREE 120D ER
(ERK30E8A30H~11H8HE)

RF N EE B0 RAED (RUHRYD
BERKEAEARR (RFHYD

AEES TR B BB Sv/h)
- REEEE
No. | ETH R4 SR LT PE | 50om IEF e (b - 4 BB T 1) i
im 5@ | #1@E [ 2@ [ ®@ | 4@ | 1@
PERE | HEHE | HERE | HEHE | HaRE | BasE
506m 0.06 0.07 0.08 0.08 0.08 0.09
1480| Wb NS WhE I R A BN 9H208
im 0.06 0.07 0.08 0.08 0.08 0.09
506m 0.07 0.07 0.09 0.08 0.10 0.10
1481| W= NS W E I R A RN 9H208
im 0.08 0.06 0.08 0.08 0.10 0.10
506m 0.08 0.08 0.10 0.09 0.08 0.08
1482| Wb NS W& R d /N 9H208
im 0.07 0.08 0.10 0.09 0.08 0.08
j j 506m 0.07 0.06 0.07 0.08 0.07 0.07
1483 | LvbhET INEEAR WhET LY E /N2 9R28H
im 0.06 0.06 0.07 0.07 0.06 0.07
506m 0.07 0.08 0.08 0.07 0.09 0.10
1484 | L\bhET INEEAR WhHETILE B /N 98118
im 0.07 0.08 0.08 0.08 0.08 0.09
506m 0.07 0.08 0.06 0.07 0.09 0.09
1485| LWbhEmH NS WO IING SRE — N 9A268
im 0.06 0.08 0.07 0.07 0.09 0.09
50 i i i . . . = &
1486 | LvbE N [obEmIme RSN opoem [ | 000 008, OO 008, OO7 008K pm MiEs) NerzahEmimngRs
im 0.07 0.06 0.07 0.08 0.07 0.07|HEBEIEHA
506m 0.07 0.08 0.07 0.07 0.08 0.08
1487| Wb NS WO TN SR =N 9A268
im 0.07 0.07 0.08 0.08 0.08 0.08
j 506m 0.06 0.08 0.08 0.10 0.08 0.09
1488| Wb NS W E TN SREUNE R 9H208
im 0.07 0.08 0.09 0.10 0.07 0.09
j 506m 0.09 0.10 0.07 0.06 0.08 0.08
1489 | Wb NS W E NG SR/ 9F268
im 0.09 0.09 0.06 0.07 0.08 0.08
j j 506m 0.07 0.07 0.08 0.07 0.08 0.08
1490 | LvbhET INEEAR WHET LR/ 9R28H
im 0.07 0.07 0.07 0.08 0.08 0.08
. . 506m 0.07 0.07 0.07 0.07 0.08 0.08
1491 | LvbhEh INEEAR WhETILRAL /DN 9H25R
im 0.07 0.07 0.07 0.07 0.08 0.08
. . 506m 0.06 0.06 0.06 0.06 0.06 0.07
1492 | LvbhETH INEEAR WhETIL LR/ 98148
im 0.06 0.06 0.06 0.06 0.06 0.06
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FEERREMFBEE=2I) VAT (CCERFE12EDEER
(ERK30E8A30H~11H8HE)
[RF QK FR xR AL (RETHRIT)
FEERKEXEAI (RFAHY)
AEES ZERAARE A fE( 1 Sv/h)
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No. | ETH R4 SR LT PE | 50om IEF e (b - 4 BB T 1) i
im 5@ | #1@E [ 2@ [ ®@ | 4@ | 1@
Fase | Bass | Hase | Baes | Hase | Baes
50cm 0.07 0.07 0.06 0.07 0.08 0.07
1493 | LvbhETh INEEAR WHhETIL AR/ DR 98138
m 0.06 0.07 0.07 0.06 0.07 0.06
50cm 0.06 0.07 0.06 0.06 0.08 0.07
1494 | WvhE INEERR LN ET IR /N 9/ 128
m 0.06 0.07 0.06 0.07 0.08 0.07
50cm 0.06 0.06 0.08 0.08 0.08 0.09
1495 | LvbhETH INER WhEM IR AE — /N 98138
m 0.06 0.06 0.09 0.07 0.08 0.08
50cm 0.08 0.07 0.07 0.08 0.09 0.09
1496 | LvbhET INEEAR WHETILZAE Z /2R 9R20H
m 0.08 0.07 0.08 0.07 0.09 0.09
50cm 0.07 0.07 0.07 0.08 0.09 0.09
1497| LvbhETH INER WhEM IR AE =/ 98208
m 0.07 0.07 0.06 0.06 0.08 0.09
50cm 0.07 0.08 0.07 0.08 0.09 0.10
1498 | LvbhET INEEAR WhHETILRE/NER 98138
m 0.07 0.09 0.06 0.08 0.09 0.09
50cm 0.07 0.08 0.07 0.08 0.07 0.08
1499 | LvbhET INEEAR WhET LR/ 98148
m 0.06 0.08 0.08 0.08 0.07 0.07
50cm 0.07 0.07 0.08 0.08 0.10 0.09
1500 | LvbhETH INER WhE I/ 98258
m 0.07 0.06 0.08 0.09 0.09 0.09
50cm 0.08 0.08 0.06 0.07 0.08 0.09
1501 | LvbhET INER W E I ENEE /N 98188
m 0.07 0.07 0.07 0.07 0.08 0.09
. . 50cm 0.08 0.08 0.08 0.08 0.08 0.08
1502 | LvbhETH INER WhEM LB/ 98148
m 0.08 0.08 0.08 0.08 0.08 0.08
. . 50cm 0.09 0.10 0.10 0.09 0.08 0.08
1503 | LvbhETH INER Wb EHTIL RTINS 98148
m 0.08 0.10 0.09 0.10 0.08 0.08
. . 50cm 0.08 0.08 0.07 0.08 0.08 0.08
1504 | LvbhETH N WhET I A KNSR 98198
m 0.07 0.08 0.06 0.08 0.08 0.08
50cm 0.07 0.07 0.09 0.08 0.09 0.08 " "
1505| b S S R T e 9R 188 LEr1 LRI FES ] N ssaDE i
1m 0.08 0.07 0.09 0.08 0.08 0.08|F="T7F™He3
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EERREMSRE=2) TR (EREE12E)ER
(ER30%4£8HA30E~1188B=E)
FRF A K ER thx RAE (RETHHRYL)
BEEKEMERARE (EFHID
AEES TR B BB Sv/h)
s = RE-BES
No. | T R4 SHE R PE | 50om £ #E0 (52 4TBO T HB) %
o el £11m 5@ F11m@ 56 £11m
HERE | Hane | naee | BEsE | DERR | BaRR
50cm 0.07 0.07 0.09 0.08 0.08 0.09
1506 | LvbhETh INERR WHETILE/NER 9828H [EF] Not420LvhHrEHIESHHEELLA
im 0.07 0.07 0.09 0.08 0.08 0.09
N 50cm 0.08 0.07 0.07 0.07 0.08 0.09
1507| Wb NS W E BRI/ E 9F 288
im 0.07 0.08 0.07 0.07 0.07 0.09
50cm 0.06 0.07 0.06 0.07 0.07 0.06|( e 10 BEED L KAE-BIREE ] Noi555L0b
1508 | LvbET I WVhEFIILE ANER 98188 AN '
- - Im 0.07 0.06 0.06 0.06 0.06 0.06|F ML HARPHREAM
50cm 0.06 0.05 0.06 0.06 0.07 0.07
1500 | LbhEd NS W= I HEE /N 98128
im 0.06 0.06 0.06 0.07 0.07 0.07
) j 50cm 0.07 0.06 0.08 0.07 0.07 0.06
1510 LvbhETh INEEAR WhHETILY R E/NER 98128
im 0.07 0.06 0.08 0.07 0.06 0.06
50cm 0.06 0.06 0.08 0.08 0.08 0.07
1511 Wb NS WIS TN 9F 148
im 0.06 0.05 0.07 0.07 0.08 0.06
50cm 0.06 0.06 0.06 0.05 0.07 0.07
1512| Wb NS W E I $8/ N 9B 148
im 0.06 0.06 0.06 0.05 0.07 0.06
50cm 0.06 0.05 0.06 0.06 0.08 0.08
1513| Wb NS W= E /N 9A 138
im 0.05 0.06 0.06 0.06 0.08 0.08
50cm 0.06 0.06 0.07 0.07 007 = = i
1514 LbE MR |WhERILORE— 9A6H TR B REERE R
im 0.06 0.06 0.06 0.06 0.07/®-
j 50cm 0.06 0.06 0.06 0.07 0.07 0.07
1515| Wb NS WHET A% E N 9878
im 0.06 0.06 0.05 0.06 0.07 0.07
50cm 007 0.05 0.06 007 0.07|[ EF ] No.1376A 25 REEE LA
1516 | LvbhET INEERR WHEMIZ 7R E=/NER 9A6H e 2 S o EECTs
. . 50cm 0.07 0.06 0.06 0.07 0.06 0.06
1517| Wb NS W= L8R/ S 9A 188
im 0.07 0.07 0.07 0.06 0.06 0.06
. . 506m 0.08 0.12 0.10 0.09 0.10 [EF] $11EETESCLAHTHE
1518| LvbhEh INERR WHhET I /N2 9826H [#E-BEEZ] £11REISZEZICLYIAER
im 0.09 0.10 0.10 0.11 0.10 a7
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EERREMSRE=2) TR (EREE12E)ER
(ERK30E8A30H~11H8HE)
[RF A K ER Hh ot RAER (RETHR D)
BEEKEMERARE (EFHID
eSS Ze PR R A (B 4 Sv/h)
< = RE-BEEZ
No. | ETH R4 SRERT PE | 50om IEF e (h k- 41D T 1918) i
o el £11m 5@ F11m@ 56 £11m
HERE | HaeE | BaRE | HasE | nies | Daes
50cm 009] o009 o1 o010 o010 e = .
1519 LvbE MR |hERIARE 97268 Uiz BES ) B EIRFLVRER
Im 008] o010l o010l 010 o009
500m 009] 0070 o008 009 008 o008
1520 LvbET N WhETI KB — N2k 9B 128
Im 008] o006 o010 o009 008 o007
500m 007 0070 o007l 007 008 o008
1521| LvbET N WhETI KT8 =Nk 9B 128
im 007 0070 o008 007 o008 o008
50cm 007 008 o009 o008 010 s T
1522| L INEHRE |DhERIAZRE— IR 9R 128 LT P B REERE R RLIT=60
im 0.08 007 o0o0s] o008 009
50cm o10] o008 o009 o010 009 o009
1523| LbET N WhETILA 2% SNk 9B 1A
Im 009] o008 o010 o009 009 o008
500m 008] o008 o008 009 009 o010
1524| UbET N WhETININEH 9B 188
im 007 o008 o008 o008 009 o010
50cm 009] o009 o007 o008 o010 o011
1525| LvbET N WhERINEINEH 9B 188
Im 009] o010] o007l 007 009 o010
500m o10] o008 o009 009 009 o009
1526| LvbET N WhETIL R INE 9B 198
im 009] o008 007 o009 009 o009
50cm 009 oto] o0o08] 00| 010 012 zpyy mEmn E-EEE] Niserp
1527| b= N W ETILIB NS 9@278 L AED I :
- - im 0.09 0.09 0.09 0.09 010  0.12[FMLNEIRFEREAR
500m 012 o0os| ot o1l ooo| o012 EFLIHE-EEE] leisss b
1528 | L\hETH INERR WhEMILRBTE/NFR 9A27H [grg.@’fg%] E11EITTESICRY 4t A
im 012 o010l o010 011 009  0.10|¢y s
50cm 0.12 0.10 0.08 0.09 0.08 0.07 [EM I EBO I BKE-BEZ] N15690
1529 | L& I WhETIL/NEFINER 98278 iy g} '
- - Im 0.11 0.09 0.09 0.09 0.08 0.07|FMIL/NEFRLREAR
50cm 007 oo0s| 00o] 007 010 010 zryy mEmn rE-EEE] K52
1530 LvbET N WhEHE NS 9A250 1)L = L E > ] Mo
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RF N EE B0 RAED (RUHRYD
BERKEAEARR (RFHYD

AEEE R4 8 = 8 1B 4 Sv/h)
- e EES
No. | ETH R4 SR LT PE | 50om M S0 (b - 4 BB T 1) i
m | 2m | ®E | sm | moE | @ | #m
WEGE | BErR | HERE | BEHR | BERE | PaeR
50cm 0.08 0.08 0.08 0.07 0.08 0.08
1531| LvbET e WhEH T BBk 9A19E
1m 0.09 0.08 0.08 0.08 0.08 0.08
50cm 0.10 0.11 0.08 0.08 0.08 0.08
1532| LvbET e WhEH AR 9A18H
1m 0.10 0.12 0.08 0.08 0.08 0.08
50cm 0.09 0.09 0.07 0.07 0.08 0.07
1533| LVbET e WhEH I M 9A 208
1m 0.08 0.08 0.07 0.08 0.07 0.06
50cm 0.07 0.06 0.09 0.10 0.09 0.08
1534| LvbhEMH R WhEHILT R PR 98198
1m 0.06 0.07 0.08 0.09 0.09 0.08
50cm 0.07 0.07 0.08 0.07 0.09 0.08
1535| LvbET e WhEH Itk 9A25H
1m 0.07 0.06 0.07 0.08 0.09 0.08
50cm 0.08 0.07 0.09 0.08 0.10 0.10
1536 | LyvbhEM R WhEMIL =P PR 98138
1m 0.08 0.07 0.09 0.08 0.10 0.09
50 0.07 0.07 0.08 0.09 009 = i = = i SR £ 4
1537| LhEd I e 97268 [— TR B REERE R
1m 0.07 0.07 0.07 0.08 0.08(""*
50cm 0.06 0.07 0.08 0.08 0.09 0.10
1538 | LyvbhEM R WHETILFE PR 9R826H
1m 0.07 0.07 0.06 0.08 0.08 0.10
50cm 0.09 0.10 0.07 0.06 0.09 0.09
1539 | LvbhEMH R WHETILFE =P 2R 9R28H
1m 0.10 0.10 0.07 0.06 0.08 0.09
R R 50cm 0.10 0.11 0.09 0.10 0.08 0.07
1540 | LpET e WhEM IR AR 9A 208
1m 0.10 0.10 0.09 0.11 0.08 0.07
50cm 0.07 0.08 0.09 0.08 0.09 0.08
1541| LhET e WhEM TR ALk 9A 208
1m 0.07 0.07 0.09 0.07 0.08 0.08
50cm 0.07 0.06 0.08 0.09 0.08 0.08
1542 | LvbhEMH R WhETILE)I PR 9R826H
1m 0.07 0.05 0.08 0.08 0.07 0.07
R 50cm 0.06 0.06 0.08 0.08 0.08 0.08
1543 | LvbhEMH R WHETIL/NGRE —F 2R 9R826H
1m 0.06 0.06 0.08 0.08 0.08 0.08
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im 5@ | #1@E [ 2@ [ ®@ | 4@ | 1@
WEGE | BErR | HERE | BEHR | BERE | PaeR
500m 008] 0070 007 o006 007 o007
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